13000 GeV pp tt
';‘ AL Y L N N L NN N I SO BN o %P
v f __ 15
o - ttHT (ATLAS semileptonic ttbar) 12
= 7 18
E 1072 = =\
e = s
o B |-
~ N )
3 | g
o [
=107 = =
- i
i IE
S
107 = =<
— i =
- m ATLAS . >%
L --©O-- Herwig++ 2.7.1 default d=
| --f3-- Herwig 7.2.1 default — g
—a4— Pythia 8.170 default E 3
10_5 — v
— e
- &
L, R R -
— T
2 =2
" — m
< N ]
l_
k B ]
e 1 1
© n
"C—U' - 1
% i i
0.5 — —0.5
PR I T T T T ENO T T S T R S SR T SR R TR S ST SR |
500 1000 1500 2000 2500

H*Y [GeV]



	Contents
	Page 1


